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INTEGERS MASTERY QUIZ 
Learning Target R.4: Integer-based exponents
Learning Target R.5: Order of operations with integers
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6.)  SHORT RESPONSE 


Simplify the expression below. 


 Show all work (5 points)


� EMBED Equation.3  ���


























Simplify the expression below. 


 Show all work (5 points)


� EMBED Equation.3  ���



































On the lines below explain why the two expressions above do not have the same value. 


(10 points)


________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________


________________________________________________





Use the expression below to answer questions 1 and 2


� EMBED Equation.3  ���


What is the standard form of the expression above?


-12     c.  -64


64       d. 12

















NAME 	 DATE 	 PERIOD 	





How would you write the expression above in expanded form?





� EMBED Equation.3  ���


� EMBED Equation.3  ���


� EMBED Equation.3  ���


� EMBED Equation.3  ���








Simplify the expression below:


� EMBED Equation.3  ���  





-500        c. 60


-60          d. 10








Simplify the expression below


� EMBED Equation.3  ���





 -6         c.  -42


154       d.   6














Steve has overdrawn bank account by $27.  His bank charged him two fees for $15 each.  He quickly deposits $100.  What is Steve’s current balance?





 103       c.  -43


154        d.   43
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